

Prima si svolgono \times e $:$ nell'ordine in cui sono scritti
poi $+$ e $-$ nell'ordine in cui sono scritti.

$$\begin{aligned} & \underbrace{2 \times 8} - \underbrace{5 \times 3} + \underbrace{4 \times 1} + \underbrace{7 \times 5} - \underbrace{80 : 2} + 3 = \\ & = 16 - 15 + 4 + 35 - 40 + 3 = \\ & = 1 + 4 + 35 - 40 + 3 = \\ & = 5 + 35 - 40 + 3 = \\ & = \cancel{40} - \cancel{40} + 3 = \\ & = 0 + 3 = 3 \end{aligned}$$

$$\underbrace{12 \times 2} + \underbrace{30 : 2} - \underbrace{4 \times 3} - \underbrace{18 : 6} =$$

$$= \underbrace{24 + 15} - 12 - 3 =$$

$$= \underbrace{39} - 12 - 3 =$$

$$= 27 - 3 = 24$$

$$16 - 35 : 7 + 48 : 6 + 3 - 63 : 9 + 5 =$$

$$= 16 - 5 + 8 + 3 - 7 + 5 =$$

$$= 11 + 8 + 3 - 7 + 5 =$$

$$= 19 + 3 - 7 + 5 =$$

$$= 22 - 7 + 5 =$$

$$= 15 + 5 = 20$$